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YYYY1&21&21&21&2    Written Written Written Written 

Methods of Methods of Methods of Methods of 

CalculationCalculationCalculationCalculation    
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8 + 7 = 158 + 7 = 158 + 7 = 158 + 7 = 15    
 

 
 
 
 
 
 
 
 
 

48 + 36 =48 + 36 =48 + 36 =48 + 36 =    84848484    
 
 
 
 
 
 
 
 
 
 
 

    
 

♦ draw a number line 

from 48. 

♦ partition 36 (3 hops 

of 10 & 6 hops of 1). 

♦ add each part onto 

48.  
♦ 48 add 36 equals 84. 

Addition Addition Addition Addition     

Stage 1: Stage 1: Stage 1: Stage 1: Number lineNumber lineNumber lineNumber line    
 

♦ Draw a 

number line 
from 8. 

♦ draw 7 hops. 

♦ count in 1s. 

♦ 8 add 7 equals 
15. 
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♦ Draw a number line from 

48. 

♦ partition 36 (1 hops of 30 & 

partition 6 or make 1 hop 

of 6). 

♦ add each part onto 48  

♦ 48 and 36 equals 84. 

Addition Addition Addition Addition     

Stage 1: Stage 1: Stage 1: Stage 1: Number lineNumber lineNumber lineNumber line    

    

    

    
8 + 7 = 158 + 7 = 158 + 7 = 158 + 7 = 15    

    
 
 
 
 
 
 
 
 
 
 
 

  

48 + 36 =48 + 36 =48 + 36 =48 + 36 =    84848484    

    
 

    

 
 
 
 

 
 
 
 
 

♦ draw a 

number line 
from 8. 

♦ use number 

bonds to 
partition 7.    

♦ Add 2 to make 

10 & then add 
5. 

♦ 8 plus 7 equals 
15. 
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♦ Write the 

numbers 
underneath each 

other (line up 

tens & units). 

♦ Partition the tens 

& units. 

♦ Add the tens. 

♦ Add the units. 

♦ Combine your 

totals. 

Addition Addition Addition Addition     

SSSStage 2: Partitioningtage 2: Partitioningtage 2: Partitioningtage 2: Partitioning    
 

 

47 + 747 + 747 + 747 + 76 = 1236 = 1236 = 1236 = 123    
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15151515    ––––    7 = 87 = 87 = 87 = 8        
 
 
 

 
 
 
 
 
 

    

77774444    ––––    27 = 4727 = 4727 = 4727 = 47    
 
 
 
 
 
 
 
 
 
 
 

    
 

♦ draw a number line 

back from 74. 

♦ partition 27 (2 hops 

of 10 & 7 hops of 1). 

♦ subtract each part 

from 74.  
♦ 74 minus 27 equals 
47. 

subtractionsubtractionsubtractionsubtraction        

Stage 1: Number lineStage 1: Number lineStage 1: Number lineStage 1: Number line    
Counting BACK & partitioning 

♦ Draw a 

number line 
back from 15. 

♦ draw 7 hops. 

♦ count back 

in 1s. 
♦ 15 take-away 
7 is 8. 
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♦ Draw a number line back from 

74. 

♦ partition 27 (into 20 & 3 & 4 or, 

into 24 & 3, to bridge through 50 

as you subtract). 

♦ Subtract each hop.  

♦ 74 minus 27 is 47.  

subtractionsubtractionsubtractionsubtraction        

Stage 1: Number lineStage 1: Number lineStage 1: Number lineStage 1: Number line    
Bridging  

    

    
    

15151515    ––––    7 =87 =87 =87 =8    

    
 
 
 
 
 
 
 
 
 
 
 

  

77774444    ––––    27 = 4727 = 4727 = 4727 = 47        

    
 

    

 
 
 
 
 
 
 
 
 

♦ draw a 

number line 
back from 
15. 

♦ Partition 7, 

to subtract 
the 5 units 
in 15 & then 

THE REST (2). 
♦ 15 minus 7 
equals 8. 
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5555    x 5 = 25x 5 = 25x 5 = 25x 5 = 25        
 
 
 
 
 
 
 
 
 

11114444    x 5 = 70 x 5 = 70 x 5 = 70 x 5 = 70     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

♦ draw a number line 

starting at 0. 

♦ partition 14 (1 hop 

of 10x5 & 1 hop of 

4x5). 

♦ Multiply each part 

& add to the total.  
♦ 14 multiplied by 5 
equals 70. 

Multiplication Multiplication Multiplication Multiplication     

Stage 1: Number lineStage 1: Number lineStage 1: Number lineStage 1: Number line    
 

48 + 36 = 8448 + 36 = 8448 + 36 = 8448 + 36 = 84    
♦ Draw a 

number line 
starting at 0. 

♦ draw 5 hops. 

♦ count on in 

5s. 
♦ 5 lots of 5 
make 25. 
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Multiplication Multiplication Multiplication Multiplication     

Stage 2Stage 2Stage 2Stage 2: mental Partitioning: mental Partitioning: mental Partitioning: mental Partitioning    
 

    

    
    

    

    

43 x 6 = 25843 x 6 = 25843 x 6 = 25843 x 6 = 258    

    
 
 
 
 
 
 
 
 
 
 
 
  

 
    

 
 
 
 
 
 
 
 
 
 
 

♦ Partition 43 

into its tens & 
units. 

♦ Multiply 40 & 

then multiply 
18.  

♦ Combine your 

totals. 
♦ 43 multiplied 
by 6 equals 
258. 
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8 8 8 8 ÷    2 = 42 = 42 = 42 = 4        
 
 
 

 

    

    

44444444    ÷    2 = 22 2 = 22 2 = 22 2 = 22     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

♦ draw a number line 

starting at 0. 

♦ partition 44 (2 hops of 

10x2 & 1 hop of 2x4). 

♦ Add up the multiples of 

2 to see how many it 
took.  

♦ 44 Divided by 2 equals 
22. 

DIVISIONDIVISIONDIVISIONDIVISION    

Stage 1: Number lineStage 1: Number lineStage 1: Number lineStage 1: Number line    
 

48 + 48 + 48 + 48 + 36 = 8436 = 8436 = 8436 = 84    
♦ Draw a number 

line starting at 0. 

♦ Count on in 2s 

until 8. 

♦ count how many 

hops it took. 
♦ 8 divided by 2 is 
4.  
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Written methods of calculation for each year group: 

 
 

 

 

 
Please note: some children may need work in the stage before or after their year group, as appropriate to their needs. 

 

SUBTRACTION 

Y1 Y2 Y3 Y4 Y5 Y6 

Stage 1 
Number Line 

Counting back & 

Partitioning 

Stage 1 
Number Line 

Bridging 

Stage 2 
Expanded 

Columns 

Stage 3 
Column 

Method 

ADDITION 

Y1 Y2 Y3 Y4 Y5 Y6 

Stage 1 
Number 

Line 

Stage 2 
Partitioning 

Stage 3 
Expanded 

Columns 

Stage 4 
Column 

Method  

MULTIPLICATION 

Y1 Y2 Y3 Y4 Y5 Y6 

Stage 1 
Number 

Line 

Stage 2 
Mental 

Partitioning  

Stage 3 
Expanded 

Columns 

Stage 4 
Short & Long 

Multiplication 

DIVISION 

Y1  Y2  Y3 Y4   Y5  Y6 

Stage 1 
Number 

Line 

Stage 2 
Mental 

Partitioning 

Stage 3 
Short 

Division 

Stage 4 
Long 

Division 


